MODELS REV DATE DESCRIPTION
CLOPAY [ 045, G54 GAL CL4_ G045, GDAL. GRAS, CRAL|CASV, GoiV,CALY, GLAV. CDASY, COALV, CRASY, GRALY DTS/ AG THGK WITH VYL RAIRGELL 051 07/26707 ADDED UPDATED GLAZING OFTION
IDEAL E4S, FAL, ED4S, EDAL : ' E4SV, EALV, ED4SV, EDALV | ) : BACKER (INSULATED MODELS ONLY) R 06| 12/05/07 |ADDED LONG WINDOW LITE OPTION
HOLMES | SS4, SL4, AR4S, AR4L SS4V, SL4V, AR4SV, AR4LV 07| 01/31/12 |REVISED WIND SPEED TABLE FOR ASCE7-10.
EQUIVALENT SECTION CONSTRUCTION: FOR ANY OF THE MODELS LISTED #OF | #0OF 2" THICK
ON THIS DRAWING, THE FOLLOWING W—LEVEL DOORS USE EQUIVALENT DHOR HEIGHT | secTions| STRUTS 3" TALL U—BAR 08| 08/16/12 |REVISED FOR TDI
O oA N ATTONE D ] | b N J—— : 24 GA. MIN. STEEL SKIN 50 GA GaLv. steeL| 09| 08/2016 | REMOVED ACRYLIC GLAZING. REVISED MAX GLAZE SIZE.
1 4 5. T COATED WITH GALV., 3
ANY OF THESE W~LEVELS MAY BE SHOWN ON THE OPTIONAL SHIPPING BT THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC. BAKED-ON PRIMER, AND A _L—_—I 10] 08/2016 | REMOVED WIND SPEED TABLE.
LABEL ON THE END STILE. 90°_T0 1007 5 BAKED—ON POLYESTER TOP 1-7/8" :: 11| 11/23/20 | UPDATED TITLE BLOCK AND ADDED COMPLIANCE STATEMENT.
trieel T ThTe o Sl TR ORI B | CONT APPLED 10 BOTH Soes T
— 1;5-120 ? 7 OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE : PNCA~GAI.eSTEELETOR ”°R'2838?% IL';{\F%ELESI%JP(%R;U%
156" 70 14°0° 7 8 IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS ROLLER BRACKET. EACH R
T e ’ REGIONS (REF. CHAPTER16 FBC/IBC) BRiCET ATACHED /o)
MAX SECTION HEIGHT) 24° — ScREWS.
3 13 GA. GALV. STEEL FLAG BRACKET.
HISESE" SHEET HEIAL [SCRENS 2 SHIP LAP JOINTS, EACH FASTENED TO WOOD JAMB WITH
MIN. (1) INTERMEDIATE STILE ESCBJSSQVA"-SSSE WAEHS(?JS%? IO-ENE (@) STErI=S/e" EiE] SERENEE
. ) 5 HQI.EA_:_‘[W b
ATTACHED W/ TOG—L~LoC (Top | MXTURE OF LONG AND SHORT PANEL ENDHINGE EAGH AS NEEDED.
& BOT) AND URETHANE ADHESIVE : -] . . ;#FLTEESNE\:;I)/(% E'ﬂxs - E 30°
SHORT PANEL Ysya e Sheer weo Lonek S | vax
LONG PANEL OPTION OPTION [~ 14 GA END HINGES 18 GA INTERMEDIATE_ HINGE & (8 Jiaxs/4” SELF T
VIEW "B° ) 4 L 2" GALV. STEEL TRACK,
| 7/ . / ] TH |/~ TRAGK THICKNESS: .060" MIN.
W=7 7 OPTIONAL WINDOW LITES DSB GLASS AVAILABLE. (SEE " e
£ | “ 77 1 A < SECTION C—C U—BAR ATTAGHED” Wit THO. ! 24* TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
% cl! MAX CUT--O T)N T TO EX 1 " Wi 1/16" T 1/4"x3/4" SELF TAPPING (TYP> 5) TRACK BRACKETS PER SIDE (UP TO 10° HIGH
z : . c ( =~OUT NOT TO EXCEED 18-5/8" WIDE X 15-1/16" TALL) SCREWS PER STILE LOCATION. = 553 TRACK BRACKETS PER SIDE EUP 0 12° HIGH;
7] [} o A DISTANCE BETWEEN ”FLAG AND TOP TRACK BRACKET
z ! ! i 20 GA. MIN. END STILES ATTACHED TO DOOR e AT T £07 0] BICEED) S0= 058
| | ¥ SKIN WITH PATENTED TOG—L—-LOC SYSTEM % . DOOR | o,
i i (TOP, BOTTOM & CENTER). WINDOW LITE OPTION | # OF SCREWS < _ HEIGHT
" ' SHORT RECT 12 13 GA. GALV. STEEL BOTTOM BRACKET. ] CFe | o
= ATTACHED WITH TWO #14x5/8" o o | 007
0] LOCK POSITION (BOTH SIDES) DOUBLE ARCH 14 SHEET METAL SCREWS. & | 106
i | TWO POINT LOCKING 3-1/2 EAEIE
. | i f SINGLE ARCH 15 ALUMINUM EXTRUSION ECEEZA
S { ; SECTIONS WITH ONE U-BAR: POSTION AT LONG RECT 16 & VINYL WEATHERSTRIP. ECAE-A
S g |B ! TOP OF SECTION AS SHOWN OVER HINGES, HEe T
- f v SECTIONS WITH TwO U-BARS: POSITION ONE FRONT FRAME WITH U.V. | 130" [ 146"
® | AT TOP AND ONE AT BOTTOM OF SECTION COATING ON OUTSIDE SURFACE MO AL LER (0, Sum) e | 1547
| ABOVE HINGE OR ABOVE BOTTOM BRACKET e 1907 ieoT
AS SHOWN. P T \GHT e e
| v— A\ THE FIRST (BOTTOM-MOST) 24° SECTION 22 Hse e
OPTIONAL OUTSIDE KEYED LOCK POSITION e Bty TR NG e Lies
SECTIONS EACH RECEIVE ONE U-BAR. ; FOR DOORS OVER
p===——=—" NAX. DOIR WIDTH 97" SliEs REIGER R 13 GA. GALV. STEEL FLAG BRACKET. A2 Bicrh, TRACK or
CONFIGURATION SHALL
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING STOP MOULDING BY DOOR INSTALLER (TO SUIT) #8x1-1/4" PAN HEAD SCREW I(Eg\)c ”s/ﬂAé-T,ﬁN_ES/gﬁ’ v‘v”c‘,’é’é’ &é‘ Bs,c“,’;'{u EXCEED MAXIMUM SPACING
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: * PROVIDED. CONSULT FACTORY
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN 26 YELLOW PINE'-4M3 20 GA. MIN. GALV. STEEL END STILE SEENENERFESTENERQUARTITC FOR MORE DETAL IF RQD.
YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE SUPPORTING STRUCTURE TO / 20 GA. GALV. STEEL INTER. STILE TABLE FOR SCREW DETAILS &
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED i i o
DIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETALL BELOW. THE CENTER OF R P m y i LHR TOP BRACKET
SCREW HOLE MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16° LAG SCREW. BRACKETS ZaSh GALY, STEEL TRACK = HORIZONTAL
2)IF THE WALLBOARD) IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD  WITH ONE 5/16"x1-5/8" LAG SCREW I 20 L QALY STEEL INTER. "1} x ?gkjng
FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK OVER SHALL BE o
INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB ATTACHMENT PER TRACK BRACKET. F14x5/8" SHEET METAL SCR 2 i

FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF
A SUFFICIENT INCREASED LENGTH TO ACCOUNT FOR THE THICKNESS OF THE
WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL
FRAMING MEMBERS OF THE SUPPORTING STRUCTURE.

—| |—-1/2* FROM EDGE

12

T

(

EREPARATION OF JAMBS BY OTHERS.

NOTE: THE DESIGN OF THE SUPPORTING
STRUCTURAL ELEMENTS SHALL BE THE

A .

CODES FOR THE LOADS LISTED ON THIS
DRAWING.

VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS):

3/8%3" LAG SCREWS ON 24" CENTERS. 1-1/8" 0.D. WASHER REQUIRED. LAG SCREWS
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

Al A¥L A (N s
3/8% x3 SLEEVE ANCHOR BOLTS ON 24 CENTERS (2 000 PSI MiIN. CONCREI'E)
WASHERS INCLUDED WITH SLEEVE ANCHORS.

1/4')(3" TAPCON SCREWS ON 24" CENTERS (2,000 PSI MIN. CONCRETE) OR 14"
CENTERS (C-90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS.

ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR
JAMB CONFIGURATIONS.

WITH ONE 1/4"x5/8" BOLT & NUT OR

2" GALV. STEEL TRACK FASTENED TO GALV
GA.C GALV., gTEEL TRAE(I:\'E BRAR%EI'S. 14
TRACK ATTACHED T H BRACK
peiD s (4; ;’5 33/4

TWO 1/4" DIA. RIVETS. 2*

RESPONSIBILITY OF THE PROFESSIONAL OF
RECORD FOR THE BUILDING OR STRUCTURE
AND IN ACCORDANCE WITH CURRENT BUILDING

ORIGINAL DRAWINGS ARE SIGNED N BLUE
wm/«msmsm.(mam)

oesm:d ENGINEER: MARK WESTERFIELD P.E.
FLORIDA, P.E: « #48495,

NC P.E. #23832, =

TEXAS P.E. #91513"

10 BALL SHORT STEM STEEL ROLLER WITH
STEEL OR NYLON TIRE

STEEL_ROLLER, HING
W/(4)

AL SCREWS INTER.
SELF TAPPING SCREWS PER END HINGE.

STILE
OUTSIDE KEYED
END
STILE

SNAP LATCH ENGAGES
ONTO VERTICAL TRACK.
ONE SNAP LATCH ON
EACH SIDE OF DOOR.

T =

END_
INSIDE HANDLE
INTER.
STILE
OUTSIDE
HANDLE T END SLIDE BOLT
STILE LOCK ENGAGES
TRACK ON
INTO VERTICAL
EACH SIDE TRACK. ONE
OF DOOR. 7
LOCK ON
EACH SIDE
OF DOOR.
OQUTSIDE_KEYED LOCK INSIDE SLIDE BOLT
LOCK BAR LOCKING LOCK OPTION

l— OPENING HEIGH

3
-
3

N

wa Clopay

CORPORATION

CLOPAY CORPORATION
8585 DUKE BLVD.
MASON, OH 45040
(513) 770—4800

2" GALV. STEEL TRACK,
TRACK THICKNESS: .060”

1 TRA
:g\ TYP. 2-1/2"x12 GA. GALV.
STEEL TRACK BRACKET. E‘E’I%'f_” o
(4) TRACK BRACKETS PER SIDE. T
7=0" | 76"
7—6" | 82"
L=8 18,

NOTE: TRACK CONFIGURATION
ABOVE THE DOOR OPENING

DOES NOT AFFECT THE WIND
LOAD RATING OF THIS DOOR.

DESIGN LOADS: +25.0 P.S.F. & -32.0 P.S.F.
TEST LOADS: +37.5 P.S.F. & —48.0 P.S.F.

Clopay Corporation All Rights Reserved.

MANUFACTURING PRODUCT CODE WINDLOAD RATING | MAX. DDOR SIZE:

MPC: PAN—2F441 9’'W x 16'H
AT 5/31/05 DESCRIPTION  G4S, G4SV, G4L, G4LV;
DRAWN B Q'W +25/-32

DRAWING NUMBER:
CHECKED BY: B 103486




